Q O3 7| 4EE(K07-282)
SHR|AMA (527|7k 20244 07& 142 17X ~ 07& 152 17A))

[20244 07 14 17A| 2E ]

ol -

-HE158) 2= ZF 72

oftl

> 27|74
O (5) SRATA), GiFBS2 S2|n, BEZ0| 42 21, AHS 10km O|AYLICH 25(14Y)2 HAFAO| Jgto
H|7} @ A& LCh

ojstoZ 2|1
* SYTY Z22H14Y 00~17A]): 89.5mm

O MUY dxHMel deto 2 sa|il H|7F @& LICE

ofl & Z|X/x[217]|2 (O ol ZEDHZ2=(0)
(Li) 23/ 26 (L 2) 28

> 2 7o

O (g, #8105 LHEA5E) HIZ LH2[ B A, AFZ0] 3500m L{e|Z L FE0E 2 1000ft LiQ|2 HZAS LI

AlZtE ZHiE o =2
ETTR s ELCDECSTHECGTI  se=ssan | Gooo | Weduw | Pooe
142 15
84 17 18 19 20 21 2 23 00 01 02 03 04
‘A B ©6
SE[HE
oy & A& 4 & 4
s =) =) =) ED 2z 2z 2z ED 2z 226 2z ED
HchZeE I, 36 T, uE6 I, 36 A, S0 I, uS0 H,ui:0 30 A, S0 I, S0 H,u2:0 30 = =0
B)ES Z8 160 =3 160 Z3160 =70 =570 =570 =70 =570 =570 =870 =70 =70
IG('L(lgF E26 E26 226 226 246 226 226 226 E46 226 226 226
159
05 06 o7 08 09 10 11 12 13 14 15 16
el A . O U W Q) Q) &\) A A
(17;3:5),1 =86 %36 =0 =56 == 56 =36 2.6 == %356 %36 =56
Hcl=ekE 3, HiE0 3, HiE0 2, HE0 =, HE0 3, HiE0 3, HiE0 2, bE0 =, HE0 3, HiE0 3, HiE0 2, bE0 =, 810
22()E% Ea70 ZE70 ZET0 Zg70 EE0 EE70 EET0 Z270 EE70 EE70 EET0 EF0
.’G&L‘lt-‘i‘r B4 B2 EEX] EER] B B2 EEX EER] B2 B2 E46 EER]
XE5Z/ QU2 SE T 20| it HiZH2 2|0|stn, thel= kY O '53: 4= 530 4kt S 2|0o))
> ZEDIZ
O gls
O HARY
XS A BEO| Coh XM A2 25748 ZH[0]X|(@mokmagoknof A 2tolgh 4= AELICH
X AT 20| EHERE MoHS Bl FAXH S 7 HAE| IS = O| £ 10F (TEL 032-740-2855 / FAX 032-740-2817) 2 2e{ZFA|7|
HFEFL( T




